4 3 2 ]

1.0 GENERAL NOTES REVISIONS
11 ALL METRIC DIMENSIONS ARE IN BRACKETS [X.X] REV. DESCRIPTION DATE | APPROVED
2.0 DESIGN NOTES NISM
3.0 MANUFACTURING/SPECIAL REQUIREMENTS A INITIAL RELEASE 29SEP14 P
3.1 TIGHTEN ALL BOLTS SECURING FLAT PLATES BY THE TURN-OF-NUT METHOD. MT-381-10 WAS MT-381-8: JL1183 SA1015
TIGHTEN ALL U-BOLTS USING TURN-OF-NUT METHOD WITH ATTENTION TO LEAVE C i ) !
T L oL G T O T e THOD WITH ATTENTI GB-0550A WAS GB-0546A (MATCHED WITH BOM) | 15NOV22 |40160482CMO
40 TEST
50 PACKAGING
D D
O
\g|
(5) I.»,
N~
E
v (10)
Sy (o) (&)
= (D
=
C < C
=
B 4 B
1?
S
COMPONENT PART NUMBERS PROVIDED FOR ASSEMBLY PURPOSES;
INDIVIDUAL COMPONENTS MAY BE SHIPPED AS PARTS WITHIN AN INCLUDED KIT. COMMSCOPE; lNC OF NORTH CAROLI NA
ITEM |PART NO. DESCRIPTION QTY. | WEIGHT | NOTE NO. TOLERANCES SAP MATERIAL MASTER
1 [MTC306505W 3060 RM WELDMENT 3 | 58.05LBS 1PLACE XX+ 0.12[3.0]  3PLacEXxx(x]x+ 0.03[0.8] RK-36-3L
2 |MT38440 3/4" X 40" GALV THREADED ROD GRADE B7 6 | 4.98LBS 2pPLACE XXX+ 0.06[1.5]  Ancles = 2°
3 |GWL-06 3/4" GALV LOCK WASHER 12 | 0.04LBS FINISH MATERIAL
4 |GN-06 3/4" GALV HEX NUT 12 | 015LBS GALV A123 A36, A529, A500
5 |DCP10 SMALL CLAMP HALF 6 | 221LBS
6 |MTC323704 CLAMP BAR 6 | 237LBS
3 NAME DATE TITLE
7 |RKO1 KICKER STANDOFF WELDMENT 3 | 1254LBS 2 % e —
T3 n
A8 [RK02 CONNECTION BRACKET 6 | 121LBS HIE s INEINFORCEMENT KIT, 3-SECTOR, 36" ARM, 30 A
9 |RK36 KICKER ARM SUPPORT TUBE , 36" 3 | 16.02LBS DENSITY |0.06 bsint | 4=2 s
10  |GB-0550A 5/8" X 5" GALV BOLT KIT (A325) 6 | 052LBS C MASS (34206 lbs 528 D |BoROSS 1730/3025
11 |GB-0520A 5/8" X 2" GALV BOLT KIT (A325) 12 | 0.26LBS VOLUME |5847.71 n* | 22& e[ 122772022 | SCALE | DOCUMENT NO.
12 |MT-381-10 5/8" X 10" GALV THREADED ROD 6 | 0.86LBS C SURFACEAREA 2733902 " | 225 [ron 20160482CNO 1:24 RK-36-3L
13 |GWF-05 5/8" GALV FLAT WASHER, 1.70D 12 | 0.06LBS HEIGHT | 36[914.4] SIZE  |AuthGroup  INSL MODEL DRAWING SHEET
14 |GWL-05 5/8" GALV LOCK WASHER 12 0.03 LBS - LENGTH | 36[914.4] C @ 6 VERSION | STATUS | REVISION | VERSION | STATUS | REVISION
15 |GN-05 5/8" GALV HEX NUT 12 | 008LBS (€) 2022 CommScope, Inc. Confidental WIDTH |10[251.0] 01 RE B 01 RE C 10F 2

4 3 2 ]



60
D30

|

762.0

1 524.0}

@ 2022 CommScope, Inc. Confidential

COMMSCOPE, INC. OF NORTH CAROLINA

TITLE

REINFORCEMENT KIT, 3-SECTOR, 36" ARM, 30

SIZE SCALE DOCUMENT NO.
C| 1:25 RK-36-3L
DRAWING
SHEET
@ 6 VERSION STATUS REVISION
01 RE C 20F 2

]




	RK-36-3L AD 
	Drawing View1

	Sheet2
	Drawing View2
	Drawing View3
	Drawing View4


